Cub Cadet Padts NI S@DEIN Mo (OsuiBtattar b8oCahl Beiord 78-9623 or 606-561-4983

Full download: http://manual pl ace.com/downl oad/cub-cadet-parts-manual -for-model -1 1050-tractor-2007-and-before/
11050 Tractor 2007 & Before Page 1 of 48
Air Filter Intake Manifold

a
1 I
= w
N
Mgl
1
11
\1
~. }}
U
NA
A
A
~
L |
~7)
hy'd
=
b }
-
Y 4
e r §
T - ¥ _
r4 N, -~ [ @]
& p e S
Y o S
AN A
ey &
P A
s «
. 9.0.0.9, B Na s A
POXK AN plravl
TN g |
AN NS P S 44 |
TSI KT 0.
= R N N 4 J0008
s - AR
T
T XU OXE
TR
NN 7
A o
Ny el
N e
R g /
7
4
/
Vi
Vé
rd
/
7/
V4
/
7
f
rd
™~
N
.
.
~
e
A
N WY
NN
AN N
AN 5\
Ayl 4
VA | =
AV
- AN A=A
P4 A s 7t | [\
e } A TS
-~ ~ e |
e AN N T T |
& > ™~ N
I v 74 . ~—
§ W /N
BB OIS . V4 INY
E SRS o, /7 ]
PSR e, BRSNS AV NN Hi Vi
e N e | a5 V7 NN 1\ V/
TN EIV N 1AV i1 14 Ao Y W /4
L, PRI e, T OAEY A\l b a N’
TN P NS VAN N ] A% ¥ 11 71 ——
payd T T By AN (3 Sl
rd i N 7 NS AN \ |1 =
o i 1 yrayd S S hall ¥/ A V4 1
rd I 4 <~ r/awd NS 4g N i
4 e 7 { & U r 4 I
1N |l e 1\ Nk &
IS 350 RO it 4
i L 1 4
i p 4 1 o~
1 L Y
1 ~)
i ™~
i I
i
i
i
i
AN

s

Thisisthe cut pages sample. DOWWWF}QOW@FM{@ com



http://manualplace.com/product/cub-cadet-parts-manual-for-model-i1050-tractor-2007-and-before/

11050 Tractor 2007 & Before

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

Air Filter Intake Manifold

Page 2 of 48

Ref#  Part Number Qty S/P/F  Description
1 KH-24-164-51-S 1 S Manifold, Intake
2 KH-24-041-52-S 1 /P Gasket, Carburetor
3  KH-24-153-27-S 1 /P O-Ring, Intake Port
4 KH-32-094-04-S 1 /P Base, Air Cleaner w/Gasket, Latch
5 KH-24-041-14 1 /P Gasket, Air Cleaner Base
6 KH-32-344-02-S 1 Latch, Air Cleaner Element
7 KH-32-083-03-S 1 S Element, Air Filter
8 KH-X-25-63 1 /P Washer, Flat, 1/4
9 KH-M-651040-S 1 Screw, Flange, M6 x 1.0 x 40
10 KH-32-083-05-S 1 S Pre-Cleaner, Element

WWW.mymowerparts.com



Page 3 of 48

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

11050 Tractor 2007 & Before
Blower Housing Baffles

o~

e

|
.M nm ||||||||||||| N
M, \HHIA mw I/WN//// /,///
\, ///// ///”” . /// .
FON O\ N @ NN
/,/ N /NN/ /my // \x y /ﬁv/.uv
P \ \ /N////, TN / 7 ! H/.IH/
N\ /N/ AN N ™ \ / ¢ AN
LN\ N\ \ <t / A ST
/7 ANN N , PN -2
\ \\ \ / / // \ N i / \ N /
/ , | \ VAN '(u ||||||||||| \ / \ L
\\ \ Hu\ TN N I Qoo A @ m
/ _ \ IR\ T [ @)
/ g / M A // / N e —— ) B wa e~ aMM/
/ \ W NN /// = w.-...vwmy C
/ \ \ / 1N\ , | 0 ™ ﬁw |||||||| o :
/ \ \ 2P A\ — i )
/ W\ UL e LN - d @ b @
\ AN / / r!..rﬂ/ / QM, ww 2N // // , - — M \
SN ANV & /AN i L\
/ S INZN4 ey, \ /
\ y // mvnwmw \\ / \\ \\ /// /// /l_N A_ / /A; o of q
/ / // w «;rm \\\ / / AN N\ \ u
\\ \y /) L= AN )/ WL
\ LAY W/ / / ﬂ,\A
/ /”m \\ NR..n\ l[Mw.m(nuuuuﬂuuﬂuﬂ.IHIM\ \\ mc (3] O
”/ N { /Hl IIIIII /4
/ ,//\\ // // ||||| N \“\ _ \ \ m
NN N / &/
NN // // =,
AN // //// \ \“\ / \\ m
/Vy 77 \ \ Vi // .
r;,,:rum/ N\ /ﬂvm\ @/ L
N N /M\ // : g h 0
//Zw,nnnu unnuuuualnnnilw\\ \\ mww @ \\ ﬁ \
\ / i ilmla.mmwwwww kmm..imwm“\
/ \ y =7 Jmmw /
\ / - \
A ]




Cub Cadet Padts NDAsEOE#Modd) (O5uiBtaéter be0Cahl 88166 78-9623 or 606-561-4983

Full download: http://manual pl ace.com/downl oad/cub-cadet-parts-manual -for-model -1 1050-tractor-2007-and-before/

11050 Tractor 2007 & Before

Blower Housing Baffles

Page 4 of 48

Ref#  Part Number Qty S/P/F  Description
1 KH-32-027-03-S 1 Kit, Blower Hsng (Incl. Ref.2 &
KH-41-037-10-S)
2  KH-32-096-08-S 1 Cover, Air Cleaner
3  KH-M-545016-S 1 /P Screw, FInge Thrd. Frmng M5 x 0.8x 16
4  KH-M-645016-S 1 /P Screw, FInge Thrd. Frmng M6 x 1.0 x 16
5 KH-32-146-05-S 1 Plate, Backing
6 KH-32-063-05-S 1 Baffle, Cyl. Barrel - #2 Side
7  KH-M-545010 1 S  Screw, FInge Thrd. Frmng M5 x 0.8x 10
8 KH-32-063-02-S 1 Baffle, Valley #2 Side
9 KH-32-063-03-S 1 Baffle, Valley #1 Side
10 KH-32-063-06-S 1 Baffle, Cylinder Barrel - #1 Side
11 KH-24-086-12 1 Screw, Tap, M6 x 1.7 x 18
KH-41-037-10-S 1 Nameplate, Service Not lllustrated
KH-32-113-20-S 1 Decal, Cub Not lllustrated

Thisisthe cut pages sample. DOWWWFHOW@F ﬂ&'{@ com



http://manualplace.com/product/cub-cadet-parts-manual-for-model-i1050-tractor-2007-and-before/

